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REASONING
1 - In the following question, select the related word pair from the given alternatives.

Fire:Burn::?:7?
Options:

1) Water : Drink
2) Wood : Trees
3) Ice : Freeze

4) Flower : Rose

Correct Answer: Ice : Freeze

2 - In the following question, select the related letters from the given alternatives.
KLMN : IJKL :: TUVW : ?

Options:
1) RSUT

2) VWXY
3) STUV

4) RSTU
Correct Answer: RSTU

3 - In the following question, select the related number from the given alternatives.
3:27::4:7?

Options:

1) 63

2) 64

3) 65

4) 15

Correct Answer: 64

4 - In the following question, select the odd word from the given alternatives.
Options:

1) Ludo

2) Chess

3) Polo
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4) Carrom
Correct Answer: Polo

5 - In the following question, select the odd letters from the given alternatives.
Options:

1) DGJ

2) KNQ

3) RUX

4) ILN
Correct Answer: ILN

6 - In the following question, select the odd number from the given alternatives.
Options:

1)31

2) 37

3) 43

4) 49
Correct Answer: 49

7 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Storm

2. Strap

3. Strangle

4. Stamped

5. Satire

Options:

1) 51432

2) 51342
3) 54132

4) 53412
Correct Answer: 54132

8 - A series is given with one term missing. Select the correct alternative from the given ones that

will complete the series.

BT, DR, FP, ?
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Options:
1) HO
2) HN
3) NH

4) OH
Correct Answer: HN

9 - In the following question, select the missing number from the given series.
3,8,5,27,8,64,12,125,17,?

Options:
1) 216

2) 361
3) 625

4) 441
Correct Answer: 216

10 - The ratio of present ages of P and Q is 5 : 8. Three years later their ages will be in ratio 8 :
11. What is the present age (in years) of Q?

Options:

1)5

2)11
3) 14

4)8
Correct Answer: 8

11 - Pointing to a lady, Diwakar said, "Her mother's only grandson is my son." How is that lady
related to Diwakar?

Options:

1) Aunty

2) Sister

3) Mother

4) Wife

Correct Answer: Sister

12 - In the following question, from the given alternative words, select the word which cannot be

formed using the letters of the given word.
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Biological
Options:
1) Logic
2) Globe
3) Baill

4) Bill
Correct Answer: Globe

13 - In a certain code language, "who are you" is written as "432", "they is you" is written as "485"
and "they are dangerous" is written as "295". How is "dangerous" written in that code language?
Options:

1)2

2)4

3)5

4)9

Correct Answer: 9

14 - If "P" denotes "multiplied by", "R" denotes "subtracted from", "S" denotes "added to" and "Q"
denotes "divided by", then which of the following equation is true?

Options:

1)18R60Q15S2=8

2)15S16 Q2P 4 =47
3)3P5R18Q3=6

4)15S28Q4P2=27
Correct Answer: 15S16 Q2P 4 =47

15-1f4*7*2=361and5*9*1 =480, then
2*1*3=7

Options:

1) 312

2) 324

3) 210

4) 102

Correct Answer: 102
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16 -

In the following question, select the number which
can be placed at the sign of question mark (?7) from
the given alternatives.

Aaferad Uy # T o7 fOdear & & uw R
(?) & FAH G 3T arelt FEAT & AT

-
o

186
138

36
2

Wl 0| O©| W
gl =W D

N | On

Options:
1) 35

2) 42
3) 45

4) 95

Correct Answer: 35

17 -
How many triangles are there in the given figure?

& 8 s # feew g ¥

-

Options:
1) 10

2)11
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3) 12

4) 13
Correct Answer: 11

18 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

I. All cups are vegetable.

II. All vegetable are pens.

Conclusions:

I. Some pens are vegetable.

Il. Some pens are cups.

Options:

1) Only conclusion (1) follows.

2) Only conclusion (l1) follows.

3) Both conclusion follow.

4) Neither conclusion (I) nor conclusion (11) follows.

Correct Answer: Both conclusion follow.

19 -

Three positions of a cube are shown below. What
will come opposite to face containing ‘5'?

= U g Hr T yaEuT R T E HE
‘5’ ol wes uT AT @1 3HF JTAM?

Options:
1)6

2)1
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3)3

4)2
Correct Answer: 1

20 -
In the given figure, how many are musical toys?
& ¢ gl #, Rrad woiaeT R ¥
Electronic /
Musical / Solaraifaie
g '
e
Toys /
(14 28) 11 | 36 *—W
~ L7285
Options:
1) 53
2) 61
3) 42
4) 45

Correct Answer: 42

21 -

Which answer figure will complete the pattern in the
question figure?

Fd W 3R AP THF HFHd & UasT & QT

HLIN?
ok
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Options:

—
-

3)

4) None of these

Correct Answer:
22 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& I 3T AP A ¥ 3@ 3 HFA A AT
orm & uw 3l BT &

Gy
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Options:
1)

®

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

Correct Answer:
23 -

@ & Uy Aglaar A @ 3gER Fee #
A Ve JUT Weldd & arg ag fhg 3R 3P
star g gam?
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Options:
1)

Correct Answer:



10POINTER

Your Study Companion

24 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofe me 9oT F AB YT WX @M ST, ar & TS
TR Fgaa # ¥ dlF @ ey un el A
g ufafesa gefr?

(L

Options:
1)

44

> P>

> b

Correct Answer:
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25 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘S’ can
be represented by 21, 43, etc., and ‘O’ can be represented by 65, 88, etc.
Similarly, you have to identify the set for the word “SPEAK”.

THh QG had UH GEAT-AHT GRT Gl AT §, ot T fAweur # &
e T & ar mar {1 Aeul A Bu v gur-weg 3eRi & o aut
grr geife o ¥, Shar B Ru are @) sneggt # R meygp & waEd AR
ufes & FEar 0 d 4 ¥ 3R negpn A 537 91 39 I F UH IR N
Ueol 301 Ufeh 3R gl & T &A1 gRT GRIAT ST Tl ol 3610
& fAu ‘s’ @ 21, 43, R gru gAT ST GHAT ¥ AT O” A 65, 88,
afe g A o Fear ¥ 3 aiE & U wA #A RUu g
“SPEAK” & foiw Wafg & UggEET B

Matrix-1 Matrix-ll
g-l -l
011123 4 5|6[7]18[9
O[I|C|E|P|S S|R|O|A|K|B
11S | E4El | € 6|OJlA|K[B|R
2|E|ST1I |[€|P 7|A|K|B|R|O
SICIP|S4E | | 8|KIB|R|O|A
4|P|1 |(€|S|E 9/B|R|O|A|K

Options:
1) 10, 12, 11, 66, 58

2) 43, 31, 33, 89, 86
3) 21, 40, 44, 56, 99

4) 32, 03, 20, 97, 66
Correct Answer: 10, 12, 11, 66, 58
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GENERAL AWARENESS
26 - Which one of the following is not an instrument of credit control in India?
Options:
1) Rationing of credit
2) Direct Action
3) Open Market operations
4) Variable cost reserve ratios
Correct Answer: Variable cost reserve ratios

27 - Which among the following is an example of micro-economic variable?
Options:

1) National Income

2) Aggregate Supply

3) Employment

4) Consumer's Equilibrium

Correct Answer: Consumer's Equilibrium

28 - Fundamental duties are mentioned in which of the following part of Indian Constitution?
Options:

1) Part I

2) Part lll

3) PartV

4) Part IV A

Correct Answer: Part [V A

29 - What is the minimum age for becoming a Governor of state in India?
Options:

1) 30 years

2) 25 years

3) 35 years

4) 45 years

Correct Answer: 35 years

30 - Who amongst the following was the successor of Sikh Guru HarKrishan?
Options:

1) Guru AngadDev

2) Guru TeghBahadur

3) Guru Hargobind

4) Guru Amar Das

Correct Answer: Guru TeghBahadur
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31 - Lord Cornwallis is known for
Options:

1) permanent revenue settlement of Bengal
2) attacking the caste system

3) land revenue settlement of United States
4) ryotwari settlement of Madras

Correct Answer: permanent revenue settlement of Bengal

32 - 49th Parallel is the boundary line between which two countries?
Options:

1) USA and Canada

2) North and South Vietnam

3) Germany and France

4) Brazil and Chile

Correct Answer: USA and Canada

33 - How does La-Nina affect the Pacific Ocean?
Options:

1) Decreases salinity of ocean

2) Cools downs the temperature of water

3) Maintains stable temperature of water

4) Increases salinity of ocean

Correct Answer: Cools downs the temperature of water

34 - Cinnamon is obtained from which part of the plant?
Options:

1) Stem

2) Bark

3) Roots

4) Fruits

Correct Answer: Bark

35-Insulinisakindof
Options:

1) hormone

2) protein

3) enzyme
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4) vitamin

Correct Answer: hormone

36 - Which among the following carries impure blood to human heart?
Options:

1) Aorta

2) Pulmonary vein

3) Pulmonary arteries

4) Vena Cava

Correct Answer: Pulmonary arteries

37 - Why does water tank appear shallower when viewed from the top?
Options:

1) Due to reflection

2) Due to refraction

3) Due to diffraction

4) Due to total internal reflection

Correct Answer: Due to refraction

38 - Which colour is formed when Red and Green are mixed?
Options:

1) Light blue

2) Yellow

3) White

4) Grey

Correct Answer: Yellow

39 - What is the full form of JPEG?
Options:

1) Joint Photographic Experts Group

2) Joint Protocol Experts Graphics.

3) Joint Programming Experts Graphics
4) Joint Project Experts Group

Correct Answer: Joint Photographic Experts Group

40 - What is an endothermic reaction?
Options:

1) Reaction in which heat is released.
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2) Reaction in which heat is absorbed.

3) Reaction in which neither heat is released nor absorbed.
4) None of these

Correct Answer: Reaction in which heat is absorbed.

41 - Which of the following is an ore of Aluminium?
Options:

1) Galena

2) Cryollite

3) Cinnabar

4) Epsom Salt

Correct Answer: Cryollite

42 - Which of the following gas was released during Bhopal gas tragedy?
Options:

1) Methyl isocyanate

2) Sodium isothiocyanate

3) Nitrogen isothiocyanate

4) Potassium isothiocyanate

Correct Answer: Methyl isocyanate

43 - What is the name of the scheme for the Employees State Insurance Corporation (ESIC)
beneficiaries launched in Delhi region?

Options:

1) SakushalHumesha

2) Kahinbhikabhibhi

3) JeevanArogya

4) ShramikKalyan

Correct Answer: Kahinbhikabhibhi

44 -
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Match the following.

forFafefa & e fifam)
Scientist / d=fas Discovery / @<t
1. Joseph Thomson a. Optical Fiber
(TpIiAF BISa)
2. Alexander Fleming b. Radium
HolFaisl Felfiar EyETIE]
3. Narinder Kapany c. Electron
afie Pt Solereia
4. Marie Curie d. Penicillin
Y Tl OferrafereT
Options:

1) 1-c, 2-d, 3-a, 4-b
2) 1-a, 2-d, 3-c, 4-b
3) 1-c, 2-a, 3-d, 4-b

4) 1-a, 2-d, 3-b, 4-c
Correct Answer: 1-c, 2-d, 3-a, 4-b

45 - Term ' Gambit ' is associated with which of the following sport?
Options:

1) Basketball

2) Chess

3) Boxing

4) Golf

Correct Answer: Chess

46 - Madhuri Dixit is associated with which Indian Dance form?
Options:

1) Bharatnatyam

2) Kuchipudi
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3) Kathak
4) Kathakali
Correct Answer: Kathak

47 - Who among the following is a Sanjay Chopra Award recipient for 20167
Options:

1) Abhinash Mishra

2) Arjun Singh

3) Aromal SM

4) SrawanandSaha

Correct Answer: Arjun Singh

48 - 'My Story' is an autobiography of which famous cricketer?
Options:

1) Kumar Sangakara

2) Kevin Peterson

3) Brendon Mccullum

4) Michael Clarke

Correct Answer: Michael Clarke

49 - Which country has approved more than 500 new settler homes in East Jerusalem?
Options:

1) USA

2) UAE

3) Israel

4) United Kingdom

Correct Answer: Israel

50 - Which of the following country is not a member of SAARC?
Options:

1) Nepal

2) Maldives

3) China

4) Afghanistan

Correct Answer: China
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51 - By which least number should 5000 be divided so that it becomes a perfect square?
Options:

1)2

2)5

3) 10

4) 25

Correct Answer: 2

52 - A can do a work in 8 days, B can do the same work in 10 days and C can do the same work
in 12 days. If all three of them do the same work together and they are paid Rs 7400, then what
is the share (in Rs) of B?

Options:

1) 2600

2) 3000

3) 2400

4) 2000

Correct Answer: 2400

53 - If the radius of the cylinder is increased by 25%, then by how much percent the height must
be reduced, so that the volume of the cylinder remains same?

Options:

1) 36

2) 56

3) 64

4) 46

Correct Answer: 36

54 - The marked price of an article is 20% more than its cost price. If 5% discount is given on the
marked price, then what is the profit percentage?

Options:

15

2) 14

3) 15

4) 25

Correct Answer: 14
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55-1fA:B=2:5B:C=4:3andC:D=2:1,thenwhatis value of A: C:D?
Options:

1)6:5:2

2)7:20:10

3)8:30:15

4)16:30:15

Correct Answer: 16 : 30 : 15

56 - The average runs conceded by a bowler in 5 matches is 45 and 15.75 in other 4 matches.
What is the average runs conceded by the bowler in 9 matches?

Options:

1) 15

2) 32

3) 35

4) 53.5

Correct Answer: 32

57 - A person bought pens at 25 for a rupee and sold at 15 for a rupee. What is his profit
percentage?

Options:

1)

162

3
2)

331
3

3)

662
3

4) 40

Correct Answer:

58 - 80 litre mixture of milk and water contains 10% milk. How much milk (in litres) must be
added to make water percentage in the mixture as 80%?

Options:

18
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2)9

3) 10

4) 12

Correct Answer: 10

59 - A bus starts running with the initial speed of 21 km/hr and its speed increases every hour by
3 km/hr. How many hours will it take to cover a distance of 252 km?

Options:

1)3

2)5

3)8

4) 10

Correct Answer: 8

60 - A sum of Rs 400 becomes Rs 448 at simple interest in 2 years. In how many years will the
sum of Rs 550 amounts to Rs 682 at the same rate?

Options:

1) 2

2)3

3)3.5

4) 4

Correct Answer: 4

61 -

What s the value of X+ X" x(1- x)?
T

e x % x X(1— x) T FeT FAT &7
1—x* 1+ X2

Options:

1) 1/x

2)yxt—1

Hx+1

4) x

Correct Answer: 1/x

62 -
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1
X+—2

If x+1 =17, then what is the value of ——*—?
X x° -3x+1

4
+ —

X
o
uﬁx+—_17 r—fr—asrmazrzn%?
X2 —3x+1

Options:
1) 2431/7

2) 3375/7
3) 3375/14

4) 3985/9
Correct Answer: 2431/7

63 -
What is the value of x in the equation
\/1+x_\{ x 1%

X 1+x  .J6
FHHIoT \/1+X \/ : ﬁxmr
1+x
AT T &2

Options:

1) -2

2)3

3)2

4) None of these

Correct Answer: 2

64 -
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i 2[x2+12]—2[x—1}—8=0, then what are the
X X

1
two values of x— ;?

afe 2[x2+12]-2[x-ﬂ-8=0,a’r -1 & ar

X X
AT FaT &2

Options:

1)-lor2

2)1lor-2

3)-lor-2

4)lor2

Correct Answer: -1 or 2

65 - In AABC, «BAC = 90° and AD is drawn perpendicular to BC. If BD =7 cm and CD = 28 cm,
then what is the length (in cm) of AD?

Options:

1) 35

2)7

3) 10.5

4) 14

Correct Answer: 14

66 - A chord of length 60 cm is at a distance of 16 cm from the centre of a circle. What is the
radius (in cm) of the circle?

Options:

1) 17

2) 34

3) 51

4) 68

Correct Answer: 34

267 -
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In the given figure, a smaller circle touches a larger
circle at P and passes through its centre O. PR is a

chord of length 34 cm, then what is the length (in cm)
of PS?

& 7% pfa &, U OleT ¥ TH 98 qF H fig P
W TN & TG § 9T 3TF g O W P IRl
%l PR 1 Siar & o seers 34 @l &, @ PS
& FFars (@A A) Fam e

Options:
19

2)17

3) 21

4) 25
Correct Answer: 17

68 -
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In the given figure, ABC is a triangle in which, AB =10
cm, AC = 6 cm and altitude AE = 4 cm. If AD is the
diameter of the circum-circle, then what is the length
(in cm) of circum-radius?

& a$ gl #, ABC me fYu= & s AB = 10
[, AC = 6 Q.M. gor Mdeda AE = 4 @A &
Ife AD a1 g9 &1 =oH &, O o e & aFarg
@A #A) Far &2

Options:
1)3

2)7.5

3) 12

4) 15
Correct Answer: 7.5

69

- What is the simplified value of cosec® A — cot® A — 3 cosec? A cot? A?

Options:
1) -2

2)-1

3)0

4)1

Correct Answer: 1

70 -
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What is the simplified value of [22¢A~15
sec A+1

SeC AT o e e T 2
sec A+1
Options:

1) cosec A—cot A
2)sec A-tan A

3)sec?A
4) sec A cosec A
Correct Answer: cosec A — cot A

71 -Iftan A =1/2 and tan B = 1/3, then what is the value of tan (2A + B)?
Options:

1)1

2)3

3)5

49

Correct Answer: 3
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Direction for 72 to 75
The pie chart given below shows the percentage of
time taken by different processesin making a car.

o T v gm R A e FR saw Fr Rfees
gfhamst F o9 ael TAT & Ffaed @ g T/
gl

Glass / 2frarr

0,
Seats / 72X B

6%

Engine / $3TeT
Tyres /afgd 40%
11%

Frame / 2m=IT
22% Paint / T&T
13%

72 -

If total time taken to make a car is 300 hours, then what is the total time (in hours) taken in paint
and frame?

Options:

1) 99

2)72

3) 105

4) 66

Correct Answer: 105

73 -

If time taken in seats is 192 hours, then what is the time taken (in hours) in glass?
Options:

1) 256

2) 352
3) 416
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4) 278
Correct Answer: 256

74 -

If total time taken in engine and tyres is 127.5 hours, then what is the difference (in hours) in time

taken by frame and glass respectively?

Options:

1)27.5

2) 125

3) 40

4) 35

Correct Answer: 35

75 -

15% of total time is spent on quality check and this time is equally taken from all other processes.
So What will be the new sectorial angle (in degrees) made by total time of seats and glass?

Options:
1) 28.6
2) 32.4
3) 35.8
4) 31.6

Correct Answer: 32.4
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ENGLISH COMPREHENSION
76 - In the following question, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If a sentence is free from error,
select 'No Error'.
Little knowledge of playing volleyball (1)/ that she possessed proved to be (2)/helpful at the time
of inaugural match. (3)/ No Error (4)
Options:
1)1
2)2
3)3
4)4
Correct Answer: 1

77 - In the following question, some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If a sentence is free from error,
select 'No Error'.

| had not completed my English homework (1)/ so | thought | was done with when the (2)/
teacher asked me to hand it in. (3)/ No Error (4)

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2

78 - In the following question, the sentence given with blank to be filled in with an appropriate
word. Select the correct alternative out of the four and indicate it by selecting the appropriate
option.

Keithhas __ with a failure in English examination thrice.

Options:

1) caught

2) gone

3) got

4) met

Correct Answer: met

79 - In the following question, the sentence given with blank to be filled in with an appropriate
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word. Select the correct alternative out of the four and indicate it by selecting the appropriate
option.

The manager was ___ an explanation of his conduct.

Options:

1) called for

2) called off

3) called to

4) called up

Correct Answer: called for

80 - In the following question, out of the four alternatives, select the word similar in meaning to
the word given.

Eloquent

Options:

1) Fluent

2) Ignorant

3) Rude

4) Significant

Correct Answer: Fluent

81 - In the following question, out of the four alternatives, select the word similar in meaning to
the word given.

Nefarious

Options:

1) Iniquitous

2) Purposeful

3) Suspicious

4) Virtuous

Correct Answer: Iniquitous

82 - In the following question, out of the four alternatives, select the word opposite in meaning to
the word given.

Ensconce

Options:

1) Establish

2) Impudence

3) Request

4) Unveill
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83 - In the following question, out of the four alternatives, select the word opposite in meaning to
the word given.

Lugubrious

Options:

1) Clumsy

2) Lucid

3) Optimistic

4) Sinister

Correct Answer: Optimistic

84 - In the following question, out of the four alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.

Ended in a fiasco

Options:

1) A complete failure

2) A successful event

3) Changed one completely

4) Twisted around

Correct Answer: A complete failure

85 - In the following question, out of the four alternatives, select the alternative which best
expresses the meaning of the idiom/phrase.

Sow wild oats

Options:

1) To make someone fool

2) To make space to red

3) To take revenge

4) To waste time by doing foolish things

Correct Answer: To waste time by doing foolish things

86 - Improve the bracketed part of the sentence.

He has painted that picture so often that he can do it with his (eyes closed).
Options:

1) arms full

2) eyes opened

3) mind blank
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4) No improvement

Correct Answer: No improvement

87 - Improve the bracketed part of the sentence.

If you talk to her nicely, she will probably (allow you) her notes.
Options:

1) allow that you have

2) let you have

3) let you to have

4) No improvement

Correct Answer: let you have

88 - In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase.

Easily duped or fooled

Options:

1) Bigot

2) Gullible

3) Ridicule

4) Venerable

Correct Answer: Gullible

89 - In the following question, out of the four alternatives, select the alternative which is the best
substitute of the phrase.

Atonement for one's sins

Options:

1) Elite

2) Ignoramus

3) Incendiary

4) Repentance

Correct Answer: Repentance

90 - In the following question, four words are given out of which one word is incorrectly spelt.
Select the incorrectly spelt word.

Options:

1) Usable

2) Defense

3) Inventor
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4) Annaul

Correct Answer: Annaul

91 - In the following question, four words are given out of which one word is incorrectly spelt.
Select the incorrectly spelt word.

Options:

1) Changeable

2) Inedible

3) Tracable

4) Valuable

Correct Answer: Tracable

92 - The question below consists of a set of labelled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.
P- It would be better to speak of uniformities of nature.

Q- Law of nature are not commands but statements of facts.

R- This would do away with elementary fallacy that a law implies a law given.
S- The use of the word law in this context is rather unfortunate.

Options:

1) QSRP

2) SQRP

3) QSPR

4) SQPR

Correct Answer: QSPR

93 - The question below consists of a set of labelled sentences. Out of the four options given,
select the most logical order of the sentences to form a coherent paragraph.

P- When the game of life is finally over there is no second chance to correct our errors.
Q- Time is the greater equalizer of all mankind.

R- Time offers opportunity but demands a sense of regard.

S- It has taken away the best and the worst of us without regard of either.

Options:

1) QSRP

2) RSQP

3) PQRS

4) RSPQ

Correct Answer: QSRP
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94 - In the following question, a sentence has been given in Active/Passive voice. Out of the four
alternatives suggested, select the one which best expresses the same sentence in
Passive/Active voice.

He saw him conducting the seminar on personality development.

Options:

1) He was seen by me to conduct the seminar on personality development.

2) He was seen conducting the seminar on personality development.

3) He saw the seminar on personality development being conducted by him.

4) He saw the seminar on personality development to be conducted by him.

Correct Answer: He saw the seminar on personality development being conducted by him.

95 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the
four alternatives suggested, select the one which best expresses the same sentence in
Indirect/Direct speech.

Rashmi said to me, "Where is the telephone exchange"?

Options:

1) Rashmi asked me that where the telephone exchange was.

2) Rashmi asked me where the telephone exchange was.

3) Rashmi asked me where was the telephone exchange.

4) Rashmi wanted to know where the telephone exchange was.

Correct Answer: Rashmi asked me where the telephone exchange was.
Direction for 96 to 100

In the following questions, the sentence given with blank to be filled in with an appropriate word.

Select the correct alternative out of the four and indicate it by selecting the appropriate option.

Corruptionisa ___ which has been spread in the mind of wrong people of the society,
community and ___ . Itis the mistreatment of public resources just for getting some
advantage to fulfil little wish. It is concerned with the unnecessary and wrong use of both power
and by anyone whether the government or non government organisation. It affects the

growth and development of the nation in all aspects like socially, and politically.

96 —
Options:
1) havoc
2) poison
3) pollutant

4) grassroot



Correct Answer: poison

97 -
Options:

1) country
2) world

3) universe
4) company

Correct Answer: country

98 -
Options:
1) fruitful
2) wishful
3) favourite
4) unfair

Correct Answer: unfair

99 -
Options:
1) position
2) growth
3) status
4) symbol

Correct Answer: position

100 -

Options:

1) emotionally
2) scientifically
3) manually

4) economically

Correct Answer: economically

10POINTER

Your Study Companion



	CGL-10
	Page 16

	CGL 10th Aug Shift-3

